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$EVWUDN

3HQHOLWLDQ� LQL� GL� ODWDU� EHODNDQJL� NDUHQD� WLQJNDW� SHUFHUDLQ� \DQJ� WHUMDGL� GL�
.RWD�6XQJDL�3HQXK�PHQJDODPL�SHQLQJNDWDQ�VHWLDS�WDKXQQ\D�WHUXWDPD�\DQJ�WHUMDGL�
GL�.HFDPDWDQ�3RQGRN�7LQJJL��'LPDQD�SHQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQJDQDOLVLV�
GDPSDN� SHUFHUDLDQ� SDGD� SHUHPSXDQ� XVLD� PXGD� WHUKDGDS� NRQGLVL� HNRQRPL� GDQ�
NRQGLVL� VRVLDO� GL� .HFDPDWDQ� 3RQGRN� 7LQJJL�� 3HQHOLWLDQ� LQL� GL� DQDOLVLV�
PHQJJXQDNDQ�PHWRGH�NXDOLWDWLI�GHVNULSWLI�\DQJ�GLODNXNDQ�GL�.HFDPDWDQ�3RQGRN�
7LQJJL�.RWD�6XQJDL�3HQXK��GHQJDQ�LQIRUPDQ�SHQHOLWLDQ�GLWHQWXNDQ�PHQJJXQDNDQ�
SXUSRVLYH�VDPSOLQJ��

3DGD� KDVLO� SHQHOLWLDQ� GLWHPXNDQ� EDKZD� GDPSDN� SHUFHUDLDQ� WHUKDGDS�
NRQGLVL�HNRQRPL�\DLWX�NHVXOLWDQ�MDQGD�PXGD�GDODP�PHPHQXKL�NHEXWXKDQ�HNRQRPL�
GDQ�SHUDQ� VHUWD�NHOXDUJD�GDODP�PHPEDQWX�PHPHQXKL�NHEXWXKDQ� HNRQRPL� MDQGD�
PXGD�\DLWX�RUDQJ�WXD�MDQGD�PXGD�6HGDQJNDQ�SHUFHUDLDQ�PHPEHU�GDPSDN�WHUKDGDS�
NRQGLVL�VRFLDO�SDGD�VWLJPD�MDQGD�PXGD�EDKZD�SHUFHUDLDQ�DGDODK�NHSXWXVDQ�\DQJ�
WHUEDLN� GHPL� NHODQJVXQJDQ� KLGXS� GLUL� VHQGLUL� GDQ� DQDN� NDUHQD� SHUPDVDODKDQ�
UXPDK� WDQJJD� \DQJ� VXGDK� WLGDN� ELVD� GLVHOHVDLNDQ� ODJL� VHUWD� SDQGDQJDQ� QHJDWLYH�
GDUL� PDV\DUDNDW� EDKZD� MDQGD� PXGD� EHUSRWHQVL� VHEDJDL� SHUXVDN� UXPDK� WDQJJD�
RUDQJ� NDUHQD� FDUD� EHUSDNDLDQ� \DQJ� NXUDQJ� VRSDQ�� 6HKLQJJD� GLKDUDSNDQ� NHSDGD�
SDUD� SHUHPSXDQ� \DQJ� PHPXWXVNDQ� PHQLNDK� SDGD� XVLD� PXGD� VXSD\D� PHQMDJD�
NHXWXKDQ� UXPDK� WDQJJDQ\D� MDQJDQ� VDPSDL� EHUFHUDL� GL� XVLD� PXGD� NDUHQD�
PHUXJLNDQ� SHUHPSXDQ� LWX� VHQGLUL� GLPDQD� GLD� KDUXV� EHNHUMD� GHPL� PHPHQXKL�
NHEXWXKDQ�KLGXS�GLUL�VHQGLUL GDQ�DQDN���
.DWD�.XQFL���3HUFHUDLDQ��3HUHPSXDQ��8VLD�0XGD
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